830

7 TN
£ - ol [
2100 § Item No Description Tle
1 Fiberglass hull for S470N (assembly) 1
[ 4233 Inflotable tube for S470N
3 4139 Inflation-deflation valve BRAVO-2005 S
4| 425002 PVC hondle grey /dark grey insertion |10
S 4250 PVC handle grey / grey insertion 1
6 4403 U-bolt M8x100 3
7 4401 U-bolt M10x120 2
o 8 4447 Drain valve, 50 mm 1
g 9 4441 Expanded drain plug 42 mm 1
10 4442 Drain through-hull with plug 2
1 4424 Motor plate external NoS 1
| 4264 Rubking strake, 100 mn i
Fm“mmm I""‘” TP o T SEAL G J_mm
%ﬂ)g. E
| == e SIRATIRE wr | e
PRPRIETICY 0 CRETE TE | B = Sliver Line S47ON
Gl e, CORAar v
ANY REPRODUCTION IN PART OR on G ) a3
A VHOLE VITHOUT THE WRITTEN | 1150 }—
OF GRAND MARINE CORPARATION IS |
[ |Em SCAE1R) [sarim:




1345

£ . | &
&1 ITtem No Description Tz
2100
1 Fiberglass hull for S470N (assembly) 1
2 4233 Inflatoble tube for S470N 1
3 4139 Inflation-deflation valve BRAVO-2005 5
% 4 425002 PVC handle grey /dark grey insertion |10
= S 4230 PVC handle grey / grey insertion 1
6 4403 U-bolt M8x100 3
7 4401 U-bolt M10x120 2
o 8 4447 Drain valve, 50 mm 1
g 9 4441 Expanded drain plug 42 mm 1
10 4442 Drain through-hull with plug 2
1 4424 Motor plate external NoS 1
| 4ee4 Rubbing strake, 100 mn 7
s i msees | i S 01T STALE DAVIG [ s
PRIPRIETARY AND CONFIDENTAL THE s [ppyazko . ; ;
INTRAATIN CONTAINED IN THIS DRAVING [ £ Silver Line S470NL
CRAND. MARINE CORPORATIEN. pec
ANY REPRODUCTION IN PART OR AS w [ e
A-VHOLE VITHOUT THE VRITTEN PERMISSIN 1152 A3
MARINE CORPARATION 1
PREHIB]TED VEIGHT! SCALE1RD [seeriors




1260

£ L o v
& [tem No Description &y *é';
1 Fiberglass hull for S470N (assembly) 1
@ @ ugj 2 4233 Inflatoble tube for S470N 1
S 3 4139 Inflation-deflation valve BRAVO-2005 S
4 | 425002 PVC handle grey /dark grey insertion |10
| i 5 4250 PVC handle grey / grey insertion 1
o 6 4403 U-bolt M8x100 3
B 8 7| 4401 U-bolt M10x120 2
8 4447 Drain valve, 50 mm 1
9 4441 Expanded drain plug 42 mm 1
i ) S ) 10 4442 Drain through-hull with plug 2
) g 1 4424 Motor plate external No5 1
S S 2| 4064 Rubbing strake, 100 mm e
PRIPROETARY AND CONFIDENTAL THE o aobyazk —
éﬁfﬁ%’:ﬁlﬁ‘ﬂ%ﬁﬁn%m[s DRAVING I::I&W Sitver Line S470NS

ANY REPRODUCTION IN PART OR AS o HATERIAL: )
A VHOLE VITHOUT THE WRITTEN PERMISSION 1151
13 E%II_PE]MRINE CORPARATION IS

PRO [ o [serion




